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General Comments

This is the second sitting for this unit, and it was good to see candidates
engaging with the questions, and providing a lot of psychological knowledge
in their answers. There were very few blank pages, and candidates seemed
to be able to manage their time well and attempt all the questions including
the three essays at the end.

To improve their answers candidates need to be able to justify their
answers when it comes to explain guestions, as many could gain the
identification mark but then failed to offer any explanation. There was also
an issue with generic points, especially when it came to strengths or
weaknesses of studies, and these need to be linked to specifics from the
study being written about.

However, most candidates were able to link answers to scenarios when they
were given, including in the essays. It would help candidates to know what
the different command verbs expected in the form of an answer, especially
those used in essays, as a lot of candidates were limited in what marks they
could gain due to lack of conclusion or judgements where they were
needed.



Paper Summary

Based on their performance on this paper candidate are offered the
following advice:

e When asked to identify something candidates do not need to explain
their answer.

e When questions ask candidates to explain candidates need to offer
some justification for their answer.

e Focus on what the question is asking and make sure the answer is
relevant to that question.

¢ Know the skills involved for the command words that may be used for
essays rather than just describing and evaluation.

¢ Include conclusions or judgement within essays in order to gain the
higher levels.

A more detailed analysis of individual questions and answers follows.



Comments on Individual Questions:

QO01la

Question Introduction

Some candidates were able to correctly define what was meant by a
correlation. However a majority of candidates failed to gain the mark as
they wrote about cause and effect, or the independent and dependent
variable. Other candidates wrote that it was a correlation without explaining
what was meant by the term correlation.

Examiner Comment

(a) The researchers used the correlational research method.

Define what is meant by the correlational research method,

(1)
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This gains 1 mark for accurately defineg what is meant by the correlational
research method, clearly stating that it is a relationahip between two
variables.

(a) The researchers used the correlational research method.

Define what is meant by the correlational research method.
. (1)
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This gains O marks as the candidate writes about cause and effect so is
defining an experiment rather than a correlation.

Examiner Tip

When asked to define do not use the same term in the definition without an
explanation of what it means.



QO01b

Question Introduction

Most candidates were able to identify a of the correlation research method
and gained the identification marks. However very few candidates were able
to elaborate on the strength to gain the justification mark. The most
common strengths that were identified were that it can be done when it is
impractical to carry out an experiment, or that it is easy to display
graphically.

QO01c

Question Introduction

Most candidates gained 2 or 3 marks for the graph, they were able to give
an appropriate title, correctly label the axes and correctly plot the data.
Those candidate who did drop a mark often did so because the title was not
appropriate or detailed enough, for example they wrote ‘performance of
textile workers on night shift’ when the graph was about the number of
nights worked and the number of mistakes made. All the candidates who
attempted the question drew the correct type of graph, a scatter diagram.

QO01d

Question Introduction

Most candidates were able to accurately identify that the type of correlation
they had drawn was a positive correlation. The majority of candidates were
able to gain the second mark by describing why it was a positive
correlation. Only a small minority of candidates failed to get the second
mark, and this was because they either wrote about cause and effect or did
not describe why it was a positive correlation using the information from the
scenario.

Examiner Comment

{d) Describe the type of correlation shown in the scatter diagram you have drawn.
(2)
The. o ¥ concediie. _nighis.. Yooy worted ;. Yhe. ock. They . viade. ..
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& (i gshve codakion.

This gains 2 marks.

The first mark is for stating it was a positive correlation at the end of the
sentence and the second mark was for describing the fact that as the
number of consecutive nights increased then so did the number of mistakes
made.



Examiner Tip

If the question is worth two marks then the candidates need to add to their
answer to gain the second mark using the information from the scenario if
there is one with the question.

QO01le

Question Introduction

Most candidates were able to correctly identify Spearman’s Rank test as the
correct statistical test to use.

Q02a

Question Introduction

Most candidates correctly wrote about Brendgen et al. (2005) and focussed
on the aims rather than any other part of the study. However in a lot a
cases the aims were not specific enough to gain credit, for example writing
about aggression rather than stating the type of aggression they were
writing the aim for. Other candidates wrote an aim about the cause of
aggression, again this is not enough detail as the candidates need to state
what causes Brendgen et al. were specifically studying.

Examiner Comment

(@) State two aims of the study by Brendgen et al (2005).
(2)
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This gained 2 marks.

This answer gained 1 mark for the first aim, which clearly states that
Brendgen et al. were investigating genetic and environmental factors as well
as clearly stating the type of aggression that was being studied.



Examiner Comment
{a) State two aims of the study by Brendgen et al (2005),

(2)
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This gained 1 mark.

It gained one mark for the first aim which clearly states that Brendgen et al.
studied social aggression and also identifies that they aimed to see whether
it was caused by genes or the environment. The second ail does not gain
any credit, whilst it correctly identifies the two types of aggression it just
says to see if they share the same cause, rather than state what the causes
would be.

Examiner Tip

Candidates are expected to have a thorough knowledge of their studies in
detail, so when writing answers about the studies in detail the candidates
need to be as specific as possible and add details from the study.

Q02b

Question Introduction

Most candidates attempted this question, and some could accurately state a
conclusion from Brendgen et al (2005). Some candidates failed to gain the
mark for the conclusion because they were not accurate enough, or they
mixed up the conclusion for the physical aggression and social aggression.



Q02c

Question Introduction

Most candidates were able to identify at least one strength, with most being
able to identify two strengths. Again only the better candidates were able to
go on and justify why the strength was a strength, and therfore gain more
than the two identification marks. Some candidates just wrote evaluative
terms as part of their justification but did not use them to explain the
strength. Other candidates gave generic strengths that could have been
true of a range of studies, rather than link their strength to specifics from
Brendgen et al.s study, therefore they could not gain credit for their
answers.

Examiners Comment
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This gained 2 marks.

This candidate gained two marks for the first strength, as it clearly identifies
a strength as the size of the sample and states what the sample size was.
The candidate then goes on to explain why a large sample size is a strength
in terms or it being representative.

The second strength does not gain any marks as it is a generic strength
about standardised procedures which could be relevant to a number of
studies. There is nothing specific about what was standardised in Brendgen
et al.s study.

Examiner Tip
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When asked to explain strengths or weaknesses of a study make sure that
there is some specific detail about the study in the answer.

Q02d

Question Introduction

The better candidates were able to gain both marks for suggesting an
improvement to Brendgen et al. (2005) and then saying why this would be
an improvement. Some candidates only gained one mark as they were able
to suggest a realistic improvement but then did not go on to write about
why this would be an improvement for the second mark. Some candidates
did not give a realistic improvement so did not gain any marks, for example
they wrote about increasing the sample size, when Brendgen et al. used a
sample of 234 pairs of twins, which is considered a large sample.

Examiner Comment

(d) Suggest one way Brendgen et al (2005) could improve their study.

(2)
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This gained 2 marks.

This gained 1 mark for accurately identifying that one improvement would
be to collect all the twins’ DNA and the second mark was gained for saying
how this would be an improvement as in the study some twins may have
been incorrectly labelled as MZ.

Examiner Comment

{d) Suggest one way Brendgen et al {2005) could improve their study.
(2)
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This gained 1 mark.

The candidate gained a mark for accurately stating an improvement would
be to investigate other age groups, but does not gain the second mark for
saying it would be easier to generalise as this need some explanation about
why it would be easier to generalise, or why being easier to generalise
would be an improvement.



Examiner Tip

If using terms such as generalisability then give some explanation of the
term in relation to the question.

Q03a

Question Introduction

Some candidates gained both marks for giving a hypothesis that was from
the biological practical that had one variable operationalised. However some
candidates failed to gain the marks as they hypothesis they wrote was for
an experiment, when the biological practical should have been a correlation

Examiner Comment

ja) State the fully operationalised hypothesis from yeur biolegical practical
investigation.
(]
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This gained 2 marks.

This hypothesis is clearly for a correlation and is related to the specification
as it is investigating sleep. One variable has been operationalised as the
candidate writes about hours on video games, though how the candidate
measured performance at school is not operationalised.

Qames ,will  Perfern. warse [ Scleo]

Examiner Comment

[a) State the fully operationalised hypothesis from your biological practical
investigation.
(2)
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This candidate gained O marks.

The hypothesis is looking at how gender will affect the ability of someone to
play video games, and is an experimental hypothesis rather than a
hypothesis for a correlation, therefore cannot gain credit for the biological
practical.



QO03b

Question Introduction

Very few candidates were able to gain the two marks for this question.
Some were able to identify an ethical issue that was taken into
consideration, but were unable to explain how or why they had to take the
ethical issue into consideration so did not gain the second mark. A lot of
candidates did not gain any marks for this question, either because it was
not an ethical issue or because the answer referred to an experiment rather
than a correlation.

QO03c

Question Introduction

Very few candidates gained more than two marks for describing how they
gather the quantitative data for their biological practical. Those candidates
who did gain more than 3 marks did so because they added detail to their
answers and made their point specific to their biological practical. The
majority of candidates who did write about the biological practical failed to
gain marks as they made generic points about gathering quantitative data
that could have been about any study, with no reference to how they
personally gathered it for their practical. Some candidates wrote about how
they gathered quantitative data for an experiment, and some went on to
describe how they gathered qualitative data.

Q04

Question Introduction

Very few candidates managed to get above a level 2 score for this essay
about neurotransmitters, with a large minority of the candidates only
gaining level 1. This was for a variety of reasons, including having very little
evaluation within the essay with it mainly being description. Candidates
need to ensure there is evaluation in questions that ask them to evaluate.
Other candidates failed to gain very many marks because they lost focus on
the essay, and went on to write an essay about theories of aggression
rather than the role of neurotransmitters in human behaviour.

Very few candidates included a conclusion in their essay.

Examiner Comment

(a) State a one-tailed (directional) hypothesis for this study.
(3)

This gains 1 mark as neither the dependant variable of the mood has been
operationalised, nor has the independent variable of the light therapy been



operationalised. it gains 1 mark for being a directional hypothesis, through
the term improved.

Examiner Comment
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This gained 6 marks, level 3.

The AO1 shows accurate knowledge and understanding, it is mainly at the
start of the essay but is also integrated in the AO3 such as the point about
Phineas Gage.

The AO3 demonstrates a grasp of competing arguments, and those
arguments are mostly in coherent chains of reasoning. There is also a
conclusion at the end of the essay when the candidate writes about the
explanation being reductionist. However the AO3 is imbalanced, as is the
conclusion therefore it cannot be a level 4 answer.

Examiner Tip

When writing essay make sure there is a balance of strengths and
weaknesses in the AO3, and that any conclusion of judgement is also
balanced.



QO05a

Question Introduction

Candidates just had to name the correct stage which most candidates were
able to do. Some candidates identified the incorrect stage and some
identified part of the theory of mind or the theory of personality.

QO05b

Question Introduction

Very few candidates gained both marks for explaining why Stuart was
afraid. Good candidates were able to use the Oedipus complex to explain
how Stuart felt about his mother and link this to castration fear and being
afraid to go fishing. Some candidates just put the Oedipus complex without
any explanation which could not gain credit as the question asked them to
explain. Weaker candidates made no reference to Freud’s theory in their
answer, for example saying that he was afraid the father would take him
away from his mother but not saying why.

Examiner Comment

(b} Explain, using Freudian theory, why Stuart became afraid.
' (2)
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This gained 2 marks.

It gained 1 mark for correctly stating that Stuart was afraid that his father
may have found out about his feelings for his mother, and the second mark
for explaining that he was afraid he would be punished by castration.

Examiner Comment

(b} Explain, using Freudian theory, why Stuart became afraid.
(2}
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This gained 1 mark.

This gained the mark at the end of the answer for describing the Oedipus
complex and relation to the mother and father and then adding that his
explains Stuart’s fear in the last sentence. If there had been no reference to
Stuart then this would have not gained any credit as it would not have been
linked to the scenario.

Examiner Tip

If there is a scenario as part of the question make sure that information
from the scenario is used in the answer.

QO06a

Question Introduction

Most candidates were able to correctly identify that the id was responsible
for Shruthri eating the sweets, and the best candidates were able to gain
the second mark by explaining why. However many candidates did not gain
the second mark, with some answers being muddled. Some candidates
wrote about a stage rather than an aspect of Shuthri’'s personality.

QO06b

Question Introduction

A majority of candidates were able to say which part of Shuthri’s personality
should have stopped her eating the sweets, but very few went on to
elaborate and explain why so most failed to gain the second mark. Some
candidates gained the first mark but then showed some confusion about
part of the personality according to Freud as they went on to explain a
different aspect of the personality. Most candidates did link their answer to
the scenario.

Examiner Comment

(b) Explain, using Freudian theory, which part of Shruthri's personality should have
stopped her eating all the sweets.
(2)
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This gained 2 marks.



It gained the first mark for correctly stating the superego and linking it to
stopping Shuthri eating all the sweets. The second mark was gained for the
justification of it making her realise right from wrong.

QO6¢

Question Introduction

Many candidates gained one mark for identifying a weakness, but few
managed to gain the second mark for justifying the weakness as part of the
explanation. Common answers referred to the fact it only studied children, it
being difficult to prove or the subjectivity of Freud’'s data. Common
mistakes included saying that it only looked at nature or that it was only
tested on one child, when it was also tested on Freud’s adult patients.
Candidates need to be careful about the statements they make, and check
them, for accuracy.

QO07a

Question Introduction

Most candidates were able to correctly work out the mean and the median.

QO07b

Question Introduction

This question was not answered well. The question asked about the
observational research method, and some candidates did not focus on the
observational research method but focussed on other aspects of the study
such as the sample size. Most candidates did attempt to link their answer to
Angela’s study but a few gave generic answers with no reference to
Angela’s observation. Candidates who did score a mark for identifying a
strength or weakness often failed to gain the second mark for justifying why
it, which is required of explain questions.

QO07c

Question Introduction

Those candidates who knew about statistical test were able to gain both
marks, either by stating the factors that led to a chi-squared test being
used or by referring to how it could be used to accept or reject her
hypothesis. A large minority of candidates did not answer this question
correctly, either saying it was easier to work out or just saying it can be
used to compare the results.



Examiner Comment

{c) Angela used a chi-squared test to analyse the data fram her study.

Justify the use of a chi-squared test for this data.
(2]
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This gained 2 marks.

It gained the first mark for mentioning the obtained and critical values and
the results being significant. The second mark was gained for the
elaboration of this about how it could be used to approve her alternative
hypothesis.

Examiner Comment

(c) Angela used a chi-squared test to analyse the data from her study.

Justify the use of a chi-squared test for this data.
(2)
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This gained 2 marks.
This gained both marks for justifying the use of the chi-squared test in
terms of the data used and the fact they were testing for a difference.

Examiner Tip

Candidates need to be able to explain why statistical tests are used as well
as be able to follow the formulae at the front of the exam to work them out.

QO08a

Question Introduction

Candidates did not do well on this question, they were unable to define
spontaneous recovery. Some candidates thought it occurred when the
unconditioned and conditioned stimulus were paired together again, and
others just defined the words with no reference to classical conditioning
saying it was a quick recovery.



QO08b

Question Introduction

This question was not answered well by a majority of candidates, they were
unable to define extinction in relation to classical conditioning.

Q08¢

Question Introduction

Stimulus generalisation was defined better than the previous two questions,
with some candidates being able to accurately define it in relation to
classical conditioning. Some candidates even gave an example using studies
into classical conditioning, which was not needed as this was a one mark
question but was good to see.

QO08d

Question Introduction

Candidates did not answer this question well, with very few being able to
identify a strength. Candidates often said it was a strength because and
then went on to define one of the terms asked about in the previous three
questions. Candidates need to be aware that describing part of a theory
does not become a strength by putting ‘It is a strength because it says...’
Some candidates could identify a strength as having scientific evidence to
support it in the form of Pavlov’s studies but then failed to add any
justification for the second mark.

QO08e

Question Introduction

Some candidates were able to answer this question well, engaging with the
scenario and describing how classical conditioning could be used to teach a
dog to sit. A lot of candidates confused classical conditioning with operant
conditioning and wrote about giving the dog treats when it sat, or writing
about reinforcement. Though some candidates did manage to gain a mark
by referring to the conditioned stimulus and conditioned response in relation
to the scenario, even though they had written about operant conditioning in
the previous sentence.

Q09

Question Introduction

The majority of candidates gained a level 1 or level 2 score for evaluating
the study. Common mistakes included giving generic evaluative comments



that could be applied to several studies with nothing specific to the study in
question or using evaluative terms without explaining them. E.g. saying the
study was had a small sample size with the correct figure and then saying it
was not generalisable but not explaining why not. Candidates also often
failed to include a conclusion, or where one was included it tended to be
superficial so this also limited the level that the candidate could get for their
answer.

Q10

Question Introduction

This essay provided a range of answers, but again the majority of
candidates gained the lower levels. Good candidates were able to offer AO1
and AO3 points about internal pacemakers and external zeitgebers and they
offered a range of evaluative points for both with some grasp of competing
arguments. Weaker candidates tended to offer just one of two points in
evaluation of each explanation, with a minority not offering any A03.

The marks for good candidates were sometimes limited as there was a lack
of judgement. Where there was a judgment this tended to be superficial or
imbalanced so limiting the level the candidates could achieve.



SECTIONC
Answer ALL questions in this section. Write your answers in the spaces provided,
10 Evaluate the role of internal pacemakers (body clock) and extermal zeitgebers in the
regulation of the sleep-wake cycle,
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This gained level 3, 8 marks.

The AO1 and AO3 are at a level 3, the knowledge and understanding are
accurate in relation to both internal pacemakers and external zeitgebers.

AO3 is at level 3, there are mostly coherent chains of reasoning and it leads
to a reasoned conclusion being presented. The candidates is aware of
competing arguments though there is an imbalance in the evaluation.



Q11

Question Introduction

Very few candidates got above a level 2 for this essay. Some candidates did
not offer a judgement about which would be the best research method to
use in this case, assess questions require candidates to make a judgement.
Most candidates did use the scenario in their answer, however some
produced a plan of how they would carry out the observation rather than
asses which method would be best. These candidates often wrote very little
about PET scans. Other candidates failed to offer any AO3 points, or offered
limited AO3 points.
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